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Instructions :
iy  All questions aré compulsory.

i) This question paper has two parts ‘A’and ‘B’.

iiij Part ‘A’ contains 20 multiple choice type ques
that has to be answered on OMR Answer Sheet. ‘

iv) After giving answer on OMR Answer Sheet, do not cut it and do not

use eraser, whitener etc.

v) Part ‘B’ contains detailed answer type

vi) Total § questions are there in this part.

vii) In the beginning of each question it has
parts of it are to be attempted.

viii) Marks allotted to each question are mentioned against it.

ix) Start from the first question and go up to the last questio
waste your time on the question you cannot solve.

x) If you need place for rough work, do it on left page of your a
book and cross ( x ) the page. Do not write the solution on that
page.

xi) Do not rub off the lines constructed in a question of construction.
Do write the steps of construction in brief, if asked.

xii) Draw neat and correct figure in solution of a question wherever it
is necessary, otherwise in its absence the solution will be treated

incomplete and wrong.
qug - A
Part - A
( gfamedia w9 )
( Multiple Choice Type Questions )
1. frafefaa denst 1 i@y den ¢

tions of 1 mark each

questions of 50 marks.

been mentioned how many

n. Do not

Nnswer

(A) 9 B) V3
() Jo-1 (D) 0:101101110... 1
1. In the following numbers, the rational number is
(A) Y9 B) 3
) Vo1 (D) 0-101101110... 1
2. Yok gl gH x+y= 10, x-y=qaHETAE
(A) x=5,y=2 B) x=7,y=3
(C) x=7,y=-3 D) x=-7,y=-3 1
02000/32
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olution of the pair of linear equations x + y = 10, x- Yy = 4 is

The s

— = 3
(A) x=5,y=2 ([E;} x=j"7y L, |
(C) x=7,yi—-3 ( ] ?y
g (5.9)H y TR E
(A) 14 TTH (B) 9 HER
(C) 5 AEH (D) 106 AFEE 1
The distance of point ( 5, 9 ) from y-axis is
(A) 14 units ~ (B) 9 units
(C) 5 units (D) V106 units 1
o T WafyaTg TR A 3 T won Sy2 A ¥, A T HU B A
(A) 10 et B) 1042 ¥Hi
(C) 15 &t (D) 1542 9t 1

If one side of an isosceles right triangle is 5¥/2 cm, then the length of its
hypotenuse is

(A) 10 cm (B) 1042 cm
(C) 15cm (D) 1542 em 1
sin18°— cos? 72° & O g
(A) 1 B)y o0
1
c) =
© 3 (D) -1 1
The value of sin® 18° - cos? 72° is
(A) 1 B) 0
1
(C) z (D) -1 1
fort e gy ® -
X P p & T, 7% vy forsy quites =1 = @4
A) p : B) p+
(C) 2p D) 2p+1
For any positive even integer o !
formm EET P, every positive odd integer will be of the
A) p
(B) +
© 2 p+1
p (D) 2p+ 1
1
[ Turn over
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ofe geEmat 7, 8, x, 11, 14ﬁmxﬁ,?ﬁxaﬂm=r%

7.
A) 9 (B) 10 |
() 105 (D) 11 .
7 If mean of the numbers 7, 8, x, 11, 14 is x, then the value of x 18
(A) 9 (B) 10
() 105 (D) 11 1
g e faam GO ax’ +bx+c=0 SUA G E, A cHAAE
2
2 a
T B <
Al 4b b
b” o b2 ,
(C) - (D) 2

8. If the roots of the quadratic equation ax? +bx+c=0 are equal, then the

value of cis
2 2
A a_ B ' a
" 2 ® <
b2 b2
(C) — D o_
a ( ] 4a 1

9. Ru m fod & ;@ AD=(x+3) @ DB=(3x+19) ¥, AE=x ot
EC=(3x+4) W4t 3R DE| |Bc, @t x #1 9 &

At
X 3t
3
1(3x+4) e
.4
C
A) 4 4t |
. o (B) 1 |Ht
(C} 2
(D) 3au 1
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i the given figure, if AD=(x+3)cm, DB=(3x+19)cm,AE=x cm,
n

Q.
gC=(3x+4) cm and DE| | BC, then the value of x is
1
X cm
2
(3x+4)cm
o
(A) 4cm (B) 1lcm 1
(C) 2cm (D) 3cm
10. 19 mWﬁuﬂmmﬁ@nﬁiﬂwwm
(A) 2 (B) 4 1
€ 5 (D) 6 e
10. The arithmetic mean of the even positive numbers from 1to 10 wi
(A) 2 (B) 4
(C) S (D) 6 1
11, W@ 156 T AT TUFES ET
(A) 2x3x13 B) 2% x3x13
€ 22 x3x11 (D) 2x3%x13 1
11. Prime factors of the number 156 will be
(A) 2x3x13 B) 2°x3x13
€ 22 x3x11 (D) 2x3%2x13 1
12, s U witg sitpe T AT S FTEH FAA: 24 N 12 €, A 3o W ¢
(A) 18 (B) 20
(C) 22 (D) 25 1
12. If mean and mode of a grouped data are 24 and 12 respectively, then its
median is
(a) 18 (B) 20
(€ 22 D) 25 . ,
02000/32 N
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13, e Ygs WA IH 2x+3y=5, dx+ky=10 F aafifae w7 9 IF &

PR kFAAR
1 B 1
"
€ 3 D) 6 1

13. If the pair of linear equations 2x+3y=5, 4x+ky=10 has infinitely many

solutions, then the value of k is

1 B) I
(A) 2 (B)
€y 3 (D) 6 1
14. ABC 3R BDE R W A W WaR § f% p 51 BC =1 wea fag &1 Tl
ABC ¥R BDE % &%l 1 3F01d &
A) 2:1 B 1:2
© 4:1 D) 1:4 1

14.  ABC and BDE are two equilateral triangles such that D is the mid-point of
BC. Ratio of the areas of the triangles ABC and BDE is
A) 2:1 B) 1:2
€ 4:1 (D) 1:4

15. 3t cosA=2;?5~.H}TtanA+cotA$rﬂT=l%

24
(a) = B 2
25 B %
625
(C) 222 o 625
576 B T8 1

15. If cosA=E7g, then the value of tan A + cot Ais

24

(A) == B
25 (B) oy
625

c) 22 :

(©) 576 (D) 625

168 :
16. w&ﬁﬁﬁfﬂrﬁmmwwaﬁtﬂ%ﬁﬁﬁqﬁ%makmﬁ
T QA a6t g Y oy

(A) 5 qe
(C) 7 8%t
02000/32
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of two circles are 4 cm and 3 cm respectively, then the radius

If the radii | *
the areas of these circles is

16.

of the circle having area equal to the sum of

(A) 5cm (B) 6cm

(C) 7cm D) 25 cm !
17 oI FHE x2 - 3x-10=0 F T g

A) 5,2 (B) 5,-2

) -5,2 D) -5,-2 1
17. The roots of the quadratic equation x?-3x-10=0 are

(A) 5,2 B) 5,-2

(€ -5,2 D) -5,-2 1
18, % TS AT W T AR Y oTar @) s I HaE H Y3 T E, A

&1 375 BT ¢

(A) 60° ' (B) 45°

(C) 30° (D) 90° 1
18. If the length of shadow of a tower on the plane ground is J3 times of its

height, the angle of elevation of the sun is

(A) 60° (B) 45°

(C) 30° (D) 90° 1
19, 45 Tt Fart 3R 4 QA =W AR OF UifcaS 3 Fo H fHerE R ™

6 Wit ATH & 3 Mol Ht TS &

(A) 3 (B) S (C) 4 (D) 6 1
19. The number of solid spheres, each of diameter 6 cm that can be made by

melting a solid metal cylinder of height 45 cm and diameter 4 cm is

(A) 3 (B) 5

(C) 4 (D) 6 1
20. 4% AABC UF wHaTE B TWYER €’ AD) BC, @t AD? ST

(A) 3 DC? B) 2 DC? () % DC? (D) 4 DC? 1
20. If AABC is an equilateral triangle such that AD.L BC, then AD%is

equal to

2

(A) 3 DC? B) 2 DC? (g % De? (D) 4 DC? :
02000/32
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que -

Part - B

( forega swdta wee )
( Detailed Answer Type Questions )

1. mﬂmﬁﬁq '
(a) foema wolteor 4x? -6x+5=0 1 fafsrrart 9 SR iR R 3k el
# W 7 FAC 2
(b) 3.0 Wt e o 0 I i) 39 ¥ @ 7.0 W ¥ R 0 g @
o9 R TR 1@ gH F T R | T % 95w J fafad 2
(c) afg cos(A—B}=§ AR sin(A+B}=§, 0°<( A+B)<90° R
A>Bg, @ A 3R B & W A S\ 2

(d) Fifeha SHERAT 929 # Qs T19 HifU
T AU 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

FRARA 2 3 8 6 6 | 3 2
(e) T IH it TH W@ % H F AT o ¥ I G F A T, GG ¥ ST
T I W T wE@w w Q) ¥ ¥ g e S 2
() Frifee sitst 1 ager A Hifw ; 2
a1t S | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 [ 60-70 | 70-80
R 7 | 14 | a3 | 12 [ 20 ] 1115 [ g

1. Do all the parts :

(a) Find the discriminant of the quadratic equation 4x2 -6x+5=0and

hence find the nature of its ropts. 2

(b) Draw a circle of radius 3-0 ¢m. From a point 7-0 cm away from its

centre, construct the pair of tangents to the circle. Write the s

ion i : teps of
the construction in brief. P

2

_J3 -
(c) If cos(A-Bj)= 5 and 51“(A+Bl=%§'-. 0°<(A+B)<90° and A4 > B

then find the values of A and g
' 2

02000/32
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(d) Find the median of the following frequency distribution : 2
—
Class-interval | 40-45 45-50 | 50-55 | 55-60 | 60-65 | 65-70 70-75
2
2 3 8 6 6 3
equen _3 .
e two-digit number is 9. Nine times of this

(e) The sum of the digits of a

reversing the order of the

number is twice the number obtained by :
digits. Find the number. 2
() Find the mode of the following data :
Class-interval | 0-10 | 10-20 | 20-30 | 30-40 [ 40-50 50-60 | 60-70 | 70-80
Frequency 7 14 13 12 20 11 | 15 8

0. el uta @uel ® & ST :

@ () v fF U SIS FANE QUi 4q + 1 A 4q + 3 F T A E,

ﬁﬁq@{"ﬁﬁ%l 2
(i) 867 3R 255 F HoWo FfaeTs fawo TG HT AN FH
AT | 2

(b) TF FNT TEET UF HMR & 9% q ol €1 9AR & et T e

SRH TF F I 30° F FGTAT FI W @1 &, N fF HEAR F 9§ @
AR TF GHA I ¥ G T 6 QS I§ R BT ANGAHA HIT 60° &
T 3 g ® 4R & 9] 9% ugen H wR R forr e § |

Hife | 4
() g3 A (-2, 2)3RB(2, 8) F A I TWEE AB T TR TR
writ & fonnifa e amt fargait & s e+ 4
(d) T P 1 3 3FF & W 3 HW 1 A 3w i 7w 2 F 2 ey w2
ﬁﬁ.ﬁﬁﬁmiﬁﬁfﬂﬂﬂm\%ﬁﬁm%lﬂﬁﬁﬁmml 4
(e} ﬁaﬁ,?gcpmﬁ?fﬁ@ﬁ%ﬁwm%l OD B2 I
FTAH &1 A< 0A = 7 WHl, T 7Y 3 O 3o} ;
) Tl & SFTHEl B U T
B
A
v
A
02000/32 *
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10

() frefefEa SHERE SS9 AT HT : —:
T 3aud 20-60 | 60-100 | 100-150 | 150-250 | 250-350 | 350-450
FRERAT 7 5 16 12 2 3

Do any five parts :

(a) (1)

Show that any positive odd integer is of the form 4g + 1 or

(b)

(c)

(d)

(e)

02000/32

4q + 3, where g is some integer. 2
(i) Find the H.C.F. of 867 and 255 using Euclid's division
algorithm. 2

A straight highway leads to the foot of a tower. A man standing at the
top of the tower observes a car at the angle of depression of 30°,
which is approaching to the foot of the tower with a uniform speed.
After 6 seconds the angle of depression of the car.is found to be 60°.
Find the time taken by the car to reach the foot of the tower from this
point. https://www.upboardonline.com 4
Find the coordinates of the points which divide the line segment
AB joining points A (-2, 2) and B (2, 8) into four equal parts. 4
The numerator of a fraction is 3 less than its denominator. If 2 is
added to both the numerator and the denominator, then the sum of

new fraction and the original fraction is %g- Find the original

fraction. 4

In the figure, AB and CD are two perpendicular diameters of o circle
with centre O. OD is diameter of the smaller circle. If OA = 7 ¢m find
the ratio of the areas of smaller and larger circles.

B

https://www.upboardonline.com
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() Find the mean of the following frequency distribution :

4
Class-interval 20-60 60-100 | 100-150 | 150-250 250-350 | 350-450
Frequency 7 5 16 12 2 3

3. U BT U ST R B & 0 A & e o qwn 39 o 9t s
F ATl Y A &, & fog S i < g g o §) 6

HYAr
BL R CM T ool Bt ABC #1 wifersrrd & o 3 fingst 1 24 wwator
¢\ fog wifsg % a(BI2+CM?)=5BC?. 6
3. If one angle of a triangle is equal to one angle of the other triangle and the
sides including these angles are proportional, then prove that the two
triangles are similar. 6
OR
BL and CM are medians of a triangle ABC, right angled at A. Prove that
4(BL>+CM?)=5BC?, 6
4. T HIWC :
4 .3 3
Y Jy
AYqar

TF A |ie, faast R e d a7 18 fefl/ser & 24 Tt arr & wferee
S H A A g URT F SRSl A1 o W ST | v s S ¥ un

&t A A P | 6
4. Solve :

4 3

—_—t =3

Vx Jy

8 9

LS | 6

Vx Jy

OR

02000/32 [ Turn over
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A motor boat, whose€ speed is 18 km/hour in still water, takes 1 hour

more to go 24 km upstream than to return downstream to the same Spot.
Find the speed of the stream. .

5, m#mﬁﬂﬁTWﬁwﬁaﬁﬂ@é:wm@amﬂ%,
Sraat S 24 A ¥ AW Fraw ok I fodt =) freud wmn 8 9 AR

20 T ¥1 40 To I AKX P W H T T A [ N Gk arel g9 H LA

T FN (5 = 3-14 TATT) 6

HAGqar

3 AW W UE G 14 H B TR q% @Ry A & 5o Feeht g8 gt @l
FUF IR AR 4 W A} TF JAER GO I Y, GO TY ¥ Fema Th
TR H1 Y AT A | 5H Y Y AR T i) 6
A container, opened from the top and made up of a metal sheet, is in the

form of a frustum of a cone of height 24 cm with radii of its lower and

upper ends are 8 cm and 20 cm respectively. Find the cost of milk which

can completely fill up the container, at the rate of Rs. 40 per litre.
(Use n=3-14)

6
OR

A wel i ;
t:M;.m.n:l of diameter 3 m ig dug 14 m deep. The earth taken out of it hasg
en s
pread evenly all aroungd the well in the shape of a circyjar ring of
0

width 4
m to form an embankment. Find the height of the embankment. g
nt,

—_———
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